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H kk xH kk xH kk xH kk x – I / PART – I 

cky  fo dkl o f' k{kk' kk L=cky  fo dkl o f' k{kk' kk L=cky  fo dkl o f' k{kk' kk L=cky  fo dkl o f' k{kk' kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %     fuEufy f[kr iz'uks a d s mÙkj nsus d s fy ,     l cl s mfp rl cl s mfp rl cl s mfp rl cl s mfp r     f od Yi p qfu,A     
Direction :  Answer the following questions by selecting the most appropriate option. 

1. fuEufy f[kr es a l s d kS u&l k  o`f ) , o a fodkl  ds 
l U nHk Z es a l gh u ghau ghau ghau gha  gS \ 
 

(1) iS j l s l j 

(2) f ud V l s nw j 

(3) l j l s iS j 

(4) o a'kk uq Ø e , oa okrko j.k dh  v arf Ø Z ;k 

  
1. Out of following which is not correct 

principle in context to growth and 

development ? 

(1) Foot to head 

(2) From near to distant 

(3) Head to foot 

(4) Interaction of heredity & 

environment 

2. fuEufy f[kr es a l s dk S u&l k  mid j.k 
l a jp ukRed vkd yu ds f y,  mi;q D r iz rhr  

u gh au gh au gh au gh a  gks rk gS \ 

(1) iz'uk s Ùkjh 

(2) l ew g if jpp kZ 

(3) ekun.M l a nfHk Z r ijh{k .k 

(4) o krkZ y ki 

  
2. Out of following which tool is not 

seems to be appropriate for formative 

assessment ? 

(1) Quizzes 

(2) Group discussion 

(3) Criterion referenced test 

(4) Conversation 

3. 4 l s 5 o" kZ d h vk ;q es a ck yd  es a d kS u&l s 
fo dkl dh ot g l s og vius ekrk d s iz fr 
iz s e rFkk  f ir` fo jks/kh Hk ko uk  n'k kZ us y xrk gS \ 
 

(1) f i;w " k  xz afF k 

(2) Fk kbjkbM xz a fF k 

(3) , ys DV ªk xz afFk 

(4) vk s fMil xz af Fk 

  
3. Due to which development at the age of 

4 to 5 years male child shows 

affectionate behaviour towards his 

mother and opposite to his father ? 

(1) Pituitary gland 

(2) Thyroid gland 

(3) Electra complex 

(4) Oedipus complex 
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4. d kS u& l k O ;f Drxr fHkU urkvk s a dk  d k j.k  ugh augh augh augh a 
gS \ 

(1) o a'kk uq Ø e (2) o k rk oj.k 

(3) ifjiDork  (4) f uns Z'k u 

  
4. Which is not the cause of individual 

differences ? 

(1) Heredity (2) Environment 

(3) Maturity (4) Guidance 

5. fuEufy f[kr es a l s d kS u&l k iz frHkk'k kyh ck yd ksa 

d s f y,  l a o`f ) dk;Z Ø e ugh augh augh augh a  gS \  

 

(1) ikB~;Ø e es a l ef̀ ) 

(2) o xZ mUufr  

(3) f of 'k" V  d {k k dk  iz ca/k 

(4) f of 'k" V  vkokl h; fo n~;k y; 

  
5. Out of following which is not the 

enrichment programme for Gifted 

children ? 

(1) Enrichment of curriculum 

(2) Grade acceleration 

(3) Arrangement of special classes 

(4) Special residential school 

6. fuEufy f[kr es a l s d kS u& l k feyj r Fk k Mks y kMZ 

}kjk iz nÙk vuq d j.kk Red  O;o gk j d k izd kj 

u gh au gh au gh au gh a  gS \ 

(1) l ek u O;o gk j 

(2) l gl Eca/kkRed  O;o gkj 

(3) iz frfy fi O;ogk j 

(4) l q esf yr&v kfJ r O;o gk j  

  
6. Out of following which is not the type 

of imitative behaviour given by Miller 

and Dollard ? 

(1) Same behaviour 

(2) Correlative behaviour 

(3) Copying behaviour 

(4) Matched dependent behaviour 

7. ^^f 'k{kk euksf o Kk u] euk sfo Kk u dh  og 'kk[k k gS] 
tk s f'k {k.k  , oa l h[ kus l s l Eca f/kr gSA** ;g  
d Fk u f n;k x;k gS % 
 

(1) o q Mo Fk Z }kjk (2) f Ld uj }kjk 

(3) f l Eil u }k jk (4) ik oy kW o  }k jk 

  
7. "Educational Psychology is that branch 

of psychology which deals with 

teaching and learning." This statement 

is given by : 

(1) Woodworth (2) Skinner 

(3) Simpson (4) Pavlov 
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8. , d  ckyd ^ ^tk s vius Ld wy t ho u d s chp 

¼;kuh yxHkx l k<+ s nl l ky es a½  v iuh vk;q 

d s l ed {k  l s uhp s d h d{kk dk dk ;Z d jus es a 

vl eFk Z gks**  d ks fdl  iz dkj d k ckyd  d grs 

gS a \ 

(1) ekufl d  :i l s eaf nr ck yd  

(2) 'k S f{kd  :i l s f iNM+ k 

(3) ew [k Z@cs od wQ 

(4) t M+ 

  
8. A child "who is in the middle of his 

school (that is about ten and half years) 

is unable to do the work of the class 

below that which is normal for his age" 

is known as which type of children ? 

(1) Mentally retarded 

(2) Educationally retarded 

(3) Moron 

(4) Idiot 

9. cgq cq f) fl )kU r d s iz orZd  d kS u Fk s \ 

 

(1) vYÝ s M fcus 

(2) f xy Q MZ 

(3) gko MZ xkMZ uj 

(4) Fk kW uZ Mk bd 

  
9. Who was the propounder of 

multidimensional intelligence theory ? 

(1) Alfred Binet 

(2) Guilford 

(3) Howard Gardner 

(4) Thorndike 

10. ^t s .Mj Ld hek F;ks jh*  fdl us iz Lrk fo r dh   

Fk h \ 

(1) vYcV Z c .Mqjk  

(2) t hu f i;k ts 

(3) , l0 ,y 0 cs e 

(4) vk j0 , 0 cS ju  

  
10. 'Gender Schema Theory' was proposed 

by whom ? 

(1) Albert Bandura 

(2) Jean Piaget 

(3) S. L. Bem 

(4) R. A. Baron 
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11. fuEufy f[kr es a l s d kSu& l k  vkU rf jd 

vf Hkiz s j.k k dk  mnkgj.k u gh au gh au gh au gh a  gS \ 

(1) iz'kal k 

(2) f pUrk 

(3) miyfC /k dh  vko ';d rk  

(4) vk dka{k k Lrj 

  
11. Out of following which is not the 

example of Intrinsic motivation ? 

(1) Praise 

(2) Anxiety 

(3) Need for achievement 

(4) Level of aspiration 

12. o kbxksRLd h d s vuq l kj fuEu es a l s d kS u&l h 
l ad Yiuk l h[ kus ds fy,  ds Unzh ; gks rh gS \ 
 

(1) l eh irk 

(2) vuq d w y u 

(3) vk Rel kru 

(4) l a LÑ fr ,o a Hkk" kk 

  
12. According to Vygotsky, which of the 

following concepts appear central to 

learning ? 

(1) proximity 

(2) adaptation 

(3) assimilation 

(4) culture and language 

13. fd ruh vk ;q ij cPpk sa es a f yax igpk u LFk kfir 

gks rh gS \ 

(1) 2 o" kZ (2) 4 o " kZ 

(3) 6 o" kZ (4) 7 o " kZ 

  
13. At what age gender identity is 

established in children ? 

(1) 2 years (2) 4 years 

(3) 6 years (4) 7 years 

14. ^vge d s f Unz d rk * d k xq .k t hu fi;kts }k jk 
iz nÙk ckS f )d  f od kl  d h dk S u&l h  vo LFk k esa 
fn[ kk bZ iM+ rk  gS \ 

(1) l a os nkR ed  xk ed  vo LFkk 

(2) iw o Z l a fØ ;k Red  voLFkk 

(3) ew rZ l a fØ ;kR ed  vo LFk k 

(4) vk S ip kf jd  l afØ ;k Red vo LFkk  

  
14. 'Ego Centricness' is main characteristic 

of which intellectual stage as given by 

Jean Piaget ? 

(1) Sensory motor stage 

(2) Pre-operational stage 

(3) Concrete operational stage 

(4) Formal operational stage 
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15. , d  f o |kF khZ us 'kS f{kd  {ks = d s vUrxZ r f d lh 

fo "k ; es a 100 es a l s 47 vad  iz kIr fd ,  bu 

va dk s a d ks l h0lh 0bZ0 ;ks t uk  d s vUrxZ r fdl 

xz s M es a cnyk  tk ld rk  gS \ 

(1) B2 

(2) C1 

(3) C2 

(4) B1 

  
15. A student got 47 marks out of 100 in a 

subject under scholastic area, this score 

will convert in which grade under 

C.C.E. scheme ? 

(1) B2 

(2) C1 

(3) C2 

(4) B1 

16. uhps vf/k xe f l )k Urk sa vkS j mud s iz f rikndks a 

d s tks M+ s f n,  x, gS aA ba fxr dh ft, fd fdl 

tk s M+s dk  feyku l gh ugh augh augh augh a  gS \ 

(1) vuq d w y u@ vuq cU/k v uq fØ ;k  &   

o q YQ  ,oa jhM 

(2) vU r% n`f " V &l w> d k  fl )k Ur & 

o nh Z ej , oa d ks gyj 

(3) míhiu& vuq fØ ;k  f l )k Ur &   

Fk kW uZ Mk bd ] xs V~l ] LVhQ s u 

(4) iq ucZ y u fl )kUr &  gy  , oa fLd uj 

  
16. Below are given the pairs of theories of 

learning and their exponents. Indicate 

which pair is not correctly matched ? 

(1) Conditioning Responses -  

Wolf and Reid 

(2) Insight Theory -  

Wortheimar and Kohlar 

(3) Stimulus-Response Theory -  

Thorndike, Gates, Stephen 

(4) Reinforcement Theory - Hull and 

   Skinner 

17. Ý k ;M }k jk fn;s x;s euk s yS a f xd  f od kl  d h ,d 
vo LFkk ] fuEuka fd r es a l s dkS u& l h ughaughaughaugha   gS \ 
 

(1) eq [k h; voL Fkk 

(2) xq nk vo LFkk 

(3) xq Ir voLF kk 

(4) vk bd kW f ud  ¼iz f rHk k½  vo LFkk 

  
17. Which of the following is not a stage of 

psycho-sexual development as given by 

Freud ? 

(1) Oral stage 

(2) Anal stage 

(3) Latency stage 

(4) Iconic stage 
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18. 3 o "k Z d h vk;q es a cky d yxHk x fd rus 'k Cn 
l h [k ys rk gS \ 

(1) y xHk x 200 

(2) y xHk x 300 

(3) y xHk x 500 

(4) y xHk x 1000 

  
18. At the age of 3 years how many words 

learn by a child ? 

(1) Approx 200 

(2) Approx 300 

(3) Approx 500 

(4) Approx 1000 

19. fuEufy f[kr esa l s dk S u&l k l `t uk Red rk d k 
rÙo u gh au gh au gh au gh a   gS \ 

(1) /k kjk iz o kf grk 

(2) y phy kiu 

(3) ekS f yd rk 

(4) Le`frd j.k 

  
19. Which is not the element of creativity ? 

 

(1) Fluency 

(2) Flexibility 

(3) Originality 

(4) Memorisings 

20. d q N ek ey ks a esa cPps vius ekrk& firk d h 

rq yuk es a d q N d e ekufl d  ;ks X;rk  fn[k yk rs gS a 

rFkk  Bh d mYVk  n`'; Hkh  fn[ kk bZ iM+ rk  gS] 

o a'kkuq Ø e d k ;g f u;e D ;k d gyk rk  gS \ 

(1) iz R;kxeu d k  f u;e  

(2) p ;f ur xq .k ks a dk  f l )k Ur 

(3) ekr` ,o a fir` i{kk s a dk f u;e 

(4) l a ;k s x d k  fu;e 

  
20. In some of the cases children shows less 

mental ability as compared to their 

parents and vise-versa, this rule of 

heredity is known as what ? 

(1) Law of Regression 

(2) Law of selective traits 

(3) Law of maternal and paternal lines 

(4) Law of chance 

21. fd l us ^ekufld  vk;q* 'kCn ls l cl s igy s 
ifjfp r d jk ;k  \ 

(1) vYÝ s M fcus 

(2) Fk LVZ u 

(3) Fk kW uZ Mk bd 

(4) f xy Q MZ 

  
21. Who introduces 'Mental Age' word very 

first ? 

(1) Alfred Binet 

(2) Thurston 

(3) Thorndike 

(4) Guilford 
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22. , ,, eMh  rFk k ,ih , d s vuqlkj xaHkh j ekufl d 

ea nrk ;q Dr ckyd ks a d k cq f)y fC/k ijkl  D;k 

gks rk gS \ 

(1) 52 l s 67 

(2) 36 l s 51 

(3) 20 l s 35 

(4) 20 l s uhps 

  
22. According to AAMD and APA what is 

the I. Q. range of severe mental 

retardation children ? 

(1) 52 to 67 

(2) 36 to 51 

(3) 20 to 35 

(4) below 20  

23. jkW l d s vuq l kj fod kl d h dk Su&l h vo LFkk 

d ks ^feF;k  if jiDo rk d ky* d gk x;k gS \ 

 

(1) 'k S'k oko LFkk 

(2) ckY;ko LFk k 

(3) f d 'kks jko LFkk 

(4) o ;Ld ko LFkk@iz k S<+ ko LFkk 

  
23. According to Ross which stage of 

development is known as 'Pseudo 

Maturity' stage ? 

(1) Infancy 

(2) Childhood 

(3) Adolescence 

(4) Adulthood 

24. fo | kFk hZ }k jk iz R;sd  bdkbZ d h  l ekfI r ij 

ekun.M l a nfHkZ r , s l s ijh{ k.k f tl es a fof o/k 

iz d kj dh  ew Y;k a d u rd uhd h d s }kjk  fy,  x, 

ijh{k.k  es a iz n'kZ u fd ;k  t krk gS]  fd l izd kj 

d k  ew Y;kad u d gyk rk  gS \ 

 

(1) vf ojr ew Y;ka d u 

(2) f u;rd kf yd  ew Y;k a d u 

(3) mijk s Dr (1) , o a (2) nk s uk s a 

(4) mijk s Dr (1) , o a (2) nk s uk s a ugha 

  
24. Assessment of performance done by 

students frequently at the end of unit 

using criterion-referenced test and 

employing multiple techniques of 

evaluation is known as what type of 

evaluation ? 

(1) Continual of evaluation 

(2) Periodicity of evaluation 

(3) Above (1) & (2) both 

(4) Neither (1) nor (2) above 
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25. vk jf EHkd  ckY;d k y d k vk;q l ew g d ky  D;k  

gks rk gS \ 

(1) 0 l s 2 o" kZ 

(2) 2 l s 4 o" kZ 

(3) 2 l s 6 o" kZ 

(4) 4 l s 7 o" kZ 

  
25. What is the age group of early 

childhood ? 

(1) 0 to 2 years 

(2) 2 to 4 years 

(3) 2 to 6 years 

(4) 4 to 7 years 

26. fMLys f Dl;k l E ca f /kr gS % 

(1) ekufl d  fo dk j l s 

(2) iBu fo d k j l s 

(3) O ;o gkjx r fo d k j l s 

(4) xf.k rh ; f od kj l s 

  
26. Dyslexia is associated with : 

(1) Mental disorder 

(2) Reading disorder 

(3) Behavioural disorder 

(4) Mathematical disorder 

27. tc , d  gh f o" k ; ds fod kl dk  v/;;u  
vf /kd  l e;ko f/ k rd  fd ;k tk rk gS]  bl 
v/;; u d k s d grs gSa % 

(1) t ho u o `Ùkk Ur v/;;u 

(2) l osZ v/;;u 

(3) vuq iz LFk& dk V v/;;u 

(4) vuq nS ?;Z v/;;u 

  
27. When the development of the same 

subject is studied over a period of time, 

the study is called : 

(1) Life history study 

(2) Survey study 

(3) Cross-sectional study 

(4) Longitudinal study 

28. ^^l h[ kuk fodk l dh  izfØ ;k  gS** ] d Fku fdl ds 
}kjk d gk x;k gS \ 

(1) o q Mo Fk Z 

(2) ;ks d e 

(3) f l Eil u 

(4) MkW0 eS d s 

  
28. "Learning is process of development" 

stated by whom ? 

(1) Woodworth 

(2) Yokam 

(3) Simpson 

(4) Dr. Mace 
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29. fd l h  cPps es a l `tu'k hy rk  f od fl r d jus ds 

fy ,  v/ ;k id  d ks u gh au gh au gh au gh a d juk p kf g,  % 

(1) cPps d h  fØ ;kvks a d ks iz frca f /kr d jukA 

(2) cPps d s fo pkjks a d k  l Eeku d juk A 

(3) cPps d h  mRd .Bk @ft Kk l k d ks l Urq "V 

d jukA 

(4) cPps d ks viw o Z fpUru d h f n'kk esa ys 

t kukA 

  
29. To develop creativity in a child, the 

teacher should not : 

(1) restrict the activities of the child. 

(2) respect the views of the child. 

(3) satisfy the anxieties of the child. 

 

(4) lead the child to novel thinking. 

30. , d  fo|k Fkh Z u;s Kk u d k s bl  rjg l s l h [k rk 

gS fd  og igys l s lh [k s gq , l Eiz R;; , o a 

fu;ek s a dk  if jek tZ u rF kk fo o/ kZ u d jrk gSA 

bl iz dkj dk  vf/k xe d gykrk  gS % 

 

(1) l a ;k s xkRed  lh [k uk 

(2) v/k huLFk l h[ kuk 

(3) egkd k sfV  l h[ kuk 

(4) l gl Eca/kkRed  l h[ kuk 

  
30. A student is tried to new knowledge in 

such a way that he/she is tried to 

modified and elaborate concepts and 

principles already learnt. This type of 

learning is known as what ? 

(1) Combinational learning 

(2) Subordinate learning 

(3) Superordinate learning 

(4) Correlative learning 
 



[ A ] [ 12 ] 

Level-1/4101   

HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

[ fgUnhfgUnhfgUnhfgUnh / HINDI ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. vusdkFkZd 'kCn ds vFkZ&lewg dh n`f"V ls 

dkSu&lk fodYi laxr ughaughaughaugha  gS \ 

(1) _r   &   vkfnR;] _rq] lR; 

(2) ,sjkor &  bUnz dk gkFkh] ,d ukx tkfr  

dk uke] fo|qr~ es?k 

(3) _"kHk  &  cSy] Js"B] laxhr ds lkr 
Lojksa esa nwljk 

(4) vks?k   &   <sj] izokg] ck<+ 

32. ^vO;;hHkko lekl* dk mnkgj.k ughaughaughaugha  gS % 

(1) }kj&}kj 

(2) vktdy 

(3) dq'kyrkiwoZd 

(4) gkFkksagkFk 

33. fuEu esa ls ^vfrfFk* 'kCn dk lgh foykse 'kCn 

crkb, % 

(1) vkfrF;  

(2) vukfrfFk 

(3) vkfrFks;  

(4) lfrfFk 

34. fuEu esa ls Hkkookpd 'kCn Nk¡fV, % 

(1) ;qod 

(2) fpfdRld 

(3) fdlkuh 

(4) Kkuh 

35. fdl 'kCn esa ^ijk* milxZ dk iz;ksx ughaughaughaugha  
gqvk gS \ 

(1) ijkt; 

(2) ijkfJr 

(3) ijkHko 

(4) ijkdk"Bk 

36. fuEu 'kCn&;qXeksa esa xyr vFkZ okys fodYi dk 
p;u dhft, % 

(1) vfojks/k&vojks/k & fojks/k jfgr] #dkoV 

(2) vxn&vaxn & jksxh] ckfyiq= 

(3) vuax&vux & v'kjhj] fcuk ux dk 

(4) mHk;&vHk; & nksuksa] fuHkhZd 
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37. fuEu esa ls fdl O;atu dk mPpkj.k ^nUR;* 

ughaughaughaugha  gS \ 

(1) r (2) Fk 

(3) y (4) 'k 

38. laf/k dh n`f"V ls vlaxr pqfu, % 

(1) [kx $ bZ'k =  [kxs'k 

(2) fo $ vfHkpkj = O;kfHkpkj 

(3) nsoh $ ,drk = nsO;sdrk 

(4) /kkrq $ bd = /kkfRod 

39. fdl fodYi esa ^vuq* milxZ dk iz;ksx gqvk 
gS \ 

(1) vUos"kd (2) vuq".k 

(3) vuqRlsd (4) vuq)r 

40. v'kq) fodYi pqfu, % 

(1) tks de cksyus okyk gks & vYiHkk"kh 

(2) tks izek.k ls fl) u gks & izek.; 

(3) tks fdlh ij vfHk;ksx yxk, & vfHk;ksxh 

(4) o"kkZ dk fcydqy u gksuk & vuko`f"V 

41. fuEu esa ls fdl Hkkookpd laKk 'kCn dh 
fufeZfr O;fDrokpd laKk ls gqbZ gS \ 

(1) ekr`Ro (2) vko';drk 

(3) ,s'o;Z (4) dS'kks;Z 

42. vlaxr fodYi crkb, % 

(1) uS $ fLFkd = uSf"Bd 

(2) fo $ lkn = fo"kkn 

(3) lq $ fLerk = lqf"erk 

(4) fu% $ lUu = fu"k..k 

43. fuEu esa ls dkSu&lk 'kCn ^y* izR;; ls ;qDr 
ughaughaughaugha  gS \ 

(1) ';key 

(2) dq'ky 

(3) jksey 

(4) vk¡py 

44. okrZfud n`f"V ls v'kq) fodYi pqfu, % 

(1) /kksfcu  

(2) i{khx.k 

(3) LokfeHkDr  

(4) vxq.kh 

45. fuEu esa ls ^izkjC/k* dk foykse gS % 

(1) vukjC/k  

(2) vkjC/k 

(3) vikS#"k  

(4) miyC/k 
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[ vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH ] 

Direction : Answer the following questions by selecting the most appropriate option.    

46. Choose the most appropriate 

preposition. 

He died ………… Cancer. 

(1) by  

(2) from 

(3) of  

(4) at 

47. Amusement is a noun with "ment" as a 

suffix, which of the following option 

will become a noun if we add the suffix 

"ment" to it ? 

(1) Correct  

(2) Entertain 

(3) Colour  

(4) Extort 

48. Fill in the blank by choosing the correct 

option. 

He's busy. He's got ……… work to do. 

(1) some  

(2) any 

(3) something  

(4) few 

49. Choose the most appropriate form of 

Indirect speech for the given sentence. 

He said, "Her sister will arrive from 

Mumbai today." 

(1) He said that her sister will arrived 

from Mumbai that day. 

(2) He said that her sister will be 

arrived from Mumbai today. 

(3) He said that her sister would arrive 

from Mumbai that day. 

(4) He said that her sister would 

arrived from Mumbai that day. 

50. Choose the correct antonym. 

Abandon 

(1) Quit (2) Resign 

(3) Surrender (4) Acquire 

51. Choose one word for the given 

sentence. 

One who believe in the existence of 

God. 

(1) Atheist (2) Ascetic 

(3) Theist (4) Egotist 
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52. I expect that I shall get a prize. 

The underlined words are : 

(1) Noun clause 

(2) Adjective clause 

(3) Adverb clause 

(4) None of the above 

53. Choose the most appropriate modal for 

the blank. 

…..….... you like a cup of coffee ? 

(1) Can  

(2) Would 

(3) Must  

(4) Will not 

54. Change into passive voice. 

Everybody laughed at Rohit. 

(1) Everybody was laughed at by 

Rohit. 

(2) Rohit was laughed at by everybody. 

(3) Rohit had laughed by everybody. 

(4) Rohit was laughed by everybody. 

55. They decided to cooperate. 

The underlined words are used as a : 

(1) Verb  

(2) Gerund 

(3) Infinitive  

(4) Adjective 

56. Choose the correct one. 

I was tired because I ……. for a long 

time. 

(1) was working  

(2) have been working 

(3) had been working 

(4) am working 

57. Choose the appropriate option in the 

blank. 

The Collector and Director ………. 

coming in the building. 

(1) is  

(2) are 

(3) have been  

(4) has 
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58. Choose the most appropriate 

preposition.  

There was a footpath that went ……… 

the road till the railway station. 

(1) Over  

(2) Along 

(3) Around  

(4) Across 

59. They had to cancel the match as the 

ground was too wet to play on. 

Replace the underlined word with an 

appropriate phrasal verb : 

(1) call off  

(2) call out 

(3) call up  

(4) call in 

60. Which of the word is correctly spelt ? 

(1) Guaranty  

(2) Guarantee 

(3) Gurantee  

(4) Gurrantee 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u    / GENERAL STUDIES 

[ ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU;ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU;ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU;ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU;    KkuKkuKkuKku    ,oa vfHkKku,oa vfHkKku,oa vfHkKku,oa vfHkKku    / QUANTITATIVE 

APTITUDE, REASONING ABILITY AND GK & AWARENESS ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

61. nh xbZ Ükà[kyk dks mlds Øe ds vk/kkj ij 
iwjk djsa % 

 20,  21,  25,  34,  50,  ? 

(1) 60  

(2) 70 

(3) 75  

(4) 100 

  
61. Complete the given series by their 

pattern : 

 20,  21,  25,  34,  50,  ? 

(1) 60  

(2) 70 

(3) 75  

(4) 100 

62. ,d O;fDr 8,000 #i;s 15% okf"kZd nj ls 3 
o"kZ ds fy, m/kkj ysrk gSA mls fdruk 
lk/kkj.k C;kt pqdkuk gksxk \ 

(1) 4,000 #0  

(2) 3,600 #0 

(3) 2,400 #0  

(4) 3,200 #0 

  
62. A man borrows Rs. 8,000 at the rate of 

15% per year for 3 years. How much 

simple interest will be paid by him ?  

(1) Rs. 4,000  

(2) Rs. 3,600  

(3) Rs. 2,400  

(4) Rs. 3,200  

63. ;fn 3?196833
×=  rc "?" dk eku 

gksxk % 

(1) 27  

(2) 3 

(3) 81  

(4) 9 

  
63. If 3?196833

×= , then value of  "?"  

is  : 

(1) 27  

(2) 3 

(3) 81  

(4) 9 
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64. ,d vk;r dh yEckbZ mldh pkSM+kbZ dh rhu 
xquh gSA ;fn bl vk;r dk {ks=Qy 147 oxZ 
ehVj gks] rks bldk ifjeki Kkr djsa % 

(1) 56 eh0 (2) 28 eh0 

(3) 48 eh0 (4) 49 eh0 

  
64. The length of a rectangle is 3 times of 

its breadth. If the area of rectangle is 

147 2m , then find its perimeter : 

(1) 56 m (2) 28 m 

(3) 48 m (4) 49 m 

65. fn;s x;s pkj fodYiksa esa ls rhu fdlh çdkj 
ls leku gSa rFkk viuk ,d lewg cukrs gSaA 
og ,d fodYi dkSu-lk gS tks bl lewg esa 
ughaughaughaugha  vkrk \ 

(1) flrkj  

(2) fxVkj 

(3) ok;fyu  

(4) ck¡lqjh 

  
65. Three of the following four are alike in 

a certain way and so form a group. 

Which one does not belong to that 

group ? 

(1) Sitar  

(2) Guitar 

(3) Violin  

(4) Flute 

66. ukfj;y dk tks laca/k dop ls gS ogh lEcU/k 
i= ls fdldk gksxk \ 

(1) dye  

(2) fyQkQk 

(3) ys[ku  

(4) Mkfd;k 

  
66. Coconut is related with shield in the 

same way, letter is related with : 

(1) Pen  

(2) Envelope 

(3) Writing  

(4) Postman 

67. vfer us ,d ijh{kk esa 175 vad çkIr fd, 
vkSj og 35 vad ls vuqÙkh.kZ gks x;kA ;fn 
ijh{kk esa mÙkh.kZ gksus ds fy, 35% vad dh 
vko';drk gks] rks iw.kk±d Kkr djsa % 

(1) 650  

(2) 700 

(3) 750  

(4) 600    

  
67. Amit scored 175 marks in a test and 

failed by 35 marks. If the passing 

percentage of the test is 35%, what are 

the maximum marks of the test ? 

(1) 650  

(2) 700 

(3) 750  

(4) 600 
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68. 15 O;fDr;ksa ds ,d lewg esa] 7 fgUnh i<+rs 
gSa] 8 vaxzsth i<+rs gSa vkSj 3 buesa ls dksbZ Hkh 
Hkk"kk ugha i<+rs gSaA fdrus O;fDr fgUnh vkSj 
vaxzsth nksuksa i<+rs gSa \ 

(1) 0 (2) 3 

(3) 4 (4) 5 

  
68. In a group of 15 people, 7 read Hindi, 8 

read English and 3 read none of these 

languages. How many people read 

Hindi and English both ? 

(1) 0 (2) 3 

(3) 4 (4) 5 

69. ,d iq#"k dh vksj bafxr djrs gq,] ,d efgyk 
cksyh] ^^bldh ekrk] esjh ekrk dh ,dek= 
iq=h gSA efgyk ml iq#"k ls fdl çdkj 
lEcfU/kr gS \ 

(1) ekrk (2) nknh 

(3) cgu (4) iq=h 

  
69. Pointing to a man, a woman said, "His 

mother is the only daughter of my 

mother". How is the woman related to 

the man ? 

(1) Mother (2) Grand Mother 

(3) Sister (4) Daughter 

70. ;fn iwoZ fn'kk mÙkj-if'pe gks tk,] if'pe 
fn'kk nf{k.k-iwoZ gks tk, vkSj blh rjg lHkh 
fn'kk,¡ vkil esa viuk LFkku cny ysa] rks 
mÙkj fn'kk dkSu-lh fn'kk gks tk,xh \ 
 

(1) nf{k.k  

(2) mÙkj-iwoZ 

(3) iwoZ  

(4) nf{k.k-if'pe 

  
70. If East direction changes their position 

to North-West, West direction changes 

to South-East. All directions change 

their positions in same manner. North 

will be changed to : 

(1) South  

(2) North-East 

(3) East  

(4) South-West 

71. ;fn fdlh fHkUu ds va'k esa 200% dh o`f) 
dj nh tk, rFkk mlds gj esa 350% dh o`f) 
dj nh tk,] rks 5/12 çkIr gksrk gSA ewy 
fHkUu Kkr djsaA 

(1) 5/9  

(2) 5/8 

(3) 7/12  

(4) 11/12 

  
71. If the numerator of the fraction is 

increased by 200% and denominator is 

increased by 350%, then new fraction 

is 5/12, what was the original fraction ? 

(1) 5/9  

(2) 5/8 

(3) 7/12  

(4) 11/12 
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72. fuEufyf[kr Ükà[kyk dks iwjk djsa % 

 DG,  HK,  LO,  PS,  ? 

(1) QT (2) SV 

(3) UX (4) TW 

  
72. Complete the following series : 

 DG,  HK,  LO,  PS,  ? 

(1) QT (2) SV 

(3) UX (4) TW 

73. fdlh lkadsfrd Hkk"kk esa 'BEAT' dks 'UBFC' 

dgk tk,] rFkk 'CALM' dks 'NMBD' dgk 
tk;s rks mlh Hkk"kk esa 'SORE' dks D;k dgk 
tk,xk \ 

(1) FSPT  

(2) DQNR 

(3) FQPR  

(4) DSNT 

  
73. In a code language 'BEAT' is written as 

'UBFC' and 'CALM' is written as 

'NMBD'. How is 'SORE' written in 

same language ? 

(1) FSPT  

(2) DQNR 

(3) FQPR  

(4) DSNT 

74. ,d dkj 690 fdeh0 dh nwjh 30 ?k.Vs esa r; 
djrh gSA rks mldh vkSlr pky D;k gksxh \ 
 

(1) 21 fdeh0 ç0 ?ka0 

(2) 25 fdeh0 ç0 ?ka0 

(3) 23 fdeh0 ç0 ?ka0 

(4) 20 fdeh0 ç0 ?ka0  

  
74. A car covers a distance of 690 kms in 

30 hours. What will be the average 

speed of the car ? 

(1) 21 kmph 

(2) 25 kmph 

(3) 23 kmph 

(4) 20 kmph 

75. 5 Øekxr le la[;kvksa Øe'k% A, B, C, D 

rFkk E dk vkSlr 74 gSA rc la[;k C rFkk 
la[;k E dk xq.kuQy D;k gksxk \ 

(1) 5538  

(2) 5616 

(3) 5928  

(4) 5772 

  
75. The average of 5 consecutive Even 

numbers A, B, C, D and E respectively is 

74. Then what is the product of C and E ?  

(1) 5538  

(2) 5616 

(3) 5928  

(4) 5772 
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76. ,d O;fDr rFkk mlds iq= dh vkSlr vk;q 40 
o"kZ gSA budh vk;q dk vuqikr Øe'k% 11 : 5 

gSA rks iq= dh vk;q D;k gksxh \ 

(1) 25 o"kZ  

(2) 20 o"kZ 

(3) 28 o"kZ  

(4) 14 o"kZ 

  
76. The average age of a man and his son is 

40 years. The ratio of their ages is 11 : 5 

respectively. What is the son's age ? 

(1) 25 years  

(2) 20 years 

(3) 28 years  

(4) 14 years 

77. ?kM+h dh nksuksa lqbZ;k¡ ,d fnu esa fdruh ckj 
vfrO;kiu djsaxh \ 
 

(1) 22 ckj  

(2) 24 ckj 

(3) 12 ckj  

(4) 11 ckj 

  
77. How many times both needles of a 

clock will be overlapping each other in 

a day ? 

(1) 22 times  

(2) 24 times 

(3) 12 times  

(4) 11 times 

78. ;fn 'kCn "FRIEND" ds çR;sd v{kj dks 
mlds o.kZ Øe vuqlkj tek;k tk,] rks fdrus 
v{kjksa ds LFkku vifjofrZr jgsaxs \ 
 

(1) 4 (2) 3 

(3) 1 (4) 2 

  
78. If each letter of the word "FRIEND" is 

arranged by their order in English 

alphabet. How many letters will not 

change their position ? 

(1) 4 (2) 3 

(3) 1 (4) 2 

79. ,d dS.Vhu esa lkr fnuksa ds fy, 56 fdxzk0 
pkoy dh vko';drk gksrh gS] rks vçSy rFkk 
ebZ ekg esa dqy feykdj fdrus fdxzk0 pkoy 
dh vko';drk gksxh \ 

(1) 488 fdxzk0  

(2) 476 fdxzk0 

(3) 498 fdxzk0  

(4) 490 fdxzk0 

  
79. A Canteen requires 56 Kgs rice for 

seven days. How many Kgs of rice will 

it require for the month of April and 

May together ? 

(1) 488 Kgs.  

(2) 476 Kgs. 

(3) 498 Kgs.  

(4) 490 Kgs. 
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80. ,d rLohj dh vksj b'kkjk djrs gq, fo'kky us 
dgk] ;g esjs nknkth ds bdykSrs iq= dh cgu 
gSA rks crkb, rLohj okyh efgyk fo'kky ls 
fdl çdkj lEcfU/kr gS \ 

(1) ekSlh 

(2) cqvk 

(3) cgu 

(4) ekrk 

  
80. Pointing towards a photograph Vishal 

says, she is the sister of my grand- 

father's only son. How the woman in the 

photograph is related to Vishal ? 

(1) Maternal Aunty  

(2) Paternal Aunty 

(3) Sister 

(4) Mother 

81. fry;kj >hy dgk¡ vofLFkr gS \ 

(1) xq#xzke  

(2) jksgrd 

(3) than  

(4) Qjhnkckn 

  
81. Where the Tilyar lake is situated ? 

(1) Gurugram  

(2) Rohtak 

(3) Jind  

(4) Faridabad 

82. gfj;k.kk lkfgR; vdkneh dh if=dk gS % 
 

(1) gfjxU/kk 

(2) gfj;k.kk laokn 

(3) gfj;k.kk lans'k 

(4) ik_ptU;  

  
82. The Magazine of Haryana Sahitya 

Academy is : 

(1) Harigandha 

(2) Haryana Samvad 

(3) Haryana Sandesh 

(4) Panchajanya 

83. vHkh gky gh esa fr#ifr ckykth eafnj dgk¡ 
cuk;k x;k gS \ 

(1) dq#{ks= esa  

(2) xq#xzke esa 

(3) vackyk esa  

(4) iapdqyk esa 

  
83. Where the Tirupati Balaji Temple has 

recently been built ? 

(1) Kurukshetra  

(2) Gurugram 

(3) Ambala  

(4) Panchkula 
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84. ukgj oU;tho vHk;kj.; dgk¡ vofLFkr         
gS \ 

(1) vackyk (2) lksuhir 

(3) ;equkuxj (4) jsokM+h 

  
84. Where the Nahar Wildlife Sanctuary is 

situated ? 

(1) Ambala (2) Sonipat 

(3) Yamunanagar (4) Rewari 

85. lkfgch unh fuEufyf[kr eas ls fdl ftys esa 
ughaughaughaugha cgrh gS \ 

(1) jksgrd (2) jsokM+h 

(3) >T>j (4) xq#xzke 

  
85. The Sahibi river does not flow in which 

of the following district ? 

(1) Rohtak (2) Rewari 

(3) Jhajjar (4) Gurugram 

86. gfj;k.kk ds izFke xSj&dkaxzslh eq[;ea=h dkSu 
Fks \ 

(1) pkS/kjh nsohyky 

(2) pkS/kjh calhyky 

(3) jko chjsUnz flag 

(4) Hkxor n;ky 'kekZ 

  
86. Who was the first Non-Congress Chief 

Minister of Haryana ? 

(1) Chaudhary Devilal 

(2) Chaudhary Bansilal 

(3) Rao Birendra Singh 

(4) Bhagawat Dayal Sharma 

87. gfj;k.kk dh rsjgoha fo/kku lHkk ds v/;{k 
dkSu Fks \ 
(1) larks"k ;kno (2) d¡oj iky 
(3) vHk; flag (4) ,e0 ,y0 [kêj 

  
87. Who was the speaker of the 13th 

Haryana Assembly ? 

(1) Santosh Yadav (2) Kanwar Pal 

(3) Abhay Singh  (4) M. L. Khattar 

88. lqYrkuiqj us'kuy ikdZ ds ckjs eas v/kksfyf[kr 
dFkuksa ij fopkj dhft, % 
(a) bls o"kZ 1991 eas jk"Vªh; m|ku ds :i 

eas ØeksUur fd;k x;k FkkA 
(b) ;g vius izoklh if{k;ksa ds fy, izfl) 

gSA 
mi;qZDr eas ls dkSu&lk@dkSu&ls dFku lR; 
gS@gSa \ 
(1) dsoy (a) lR; gSA 
(2) dsoy (b) lR; gSA 
(3) u rks (a) vkSj u gh (b) lR; gSA 
(4) (a) vkSj (b) nksuksa lR; gSaA 

  
88. Consider the following statements about 

Sultanpur National Park : 

(a) It was upgraded to National Park in 

the year 1991. 

(b) It is famous for its migratory birds. 

 

Which of the above statement/statements 

is/are true ? 

(1) Only (a) is true. 
(2) Only (b) is true. 

(3) Neither (a) nor (b) is true. 

(4) Both (a) and (b) are true. 



[ A ] [ 24 ] 

Level-1/4101   

89. lqesfyr dhft, % 

    LekjdLekjdLekjdLekjd     LFkkuLFkkuLFkkuLFkku 

A. 'ks[k fpYyh dk 

edcjk 

(i) Fkkuslj 

B. xwtjh egy (ii) fglkj 

C. bczkfge yksnh dk 

edcjk 

(iii) ikuhir 

D. 'kh'k egy (iv) Q#Z[kuxj 

lghlghlghlgh dwV pqfu, %  

 A B C D 

(1) (iii) (ii) (i) (iv) 

(2) (iv) (ii) (i) (iii) 

(3) (i) (ii) (iii) (iv) 

(4) (iv) (iii) (ii) (i) 

  
89. Match the following : 

 Monuments  Place 

A. Tomb of 

Sheikh Chilli 

(i) Thanesar 

B. Gujari Mahal (ii) Hisar 

C. Tomb of 

Ibrahim Lodi 

(iii) Panipat 

D. Sheesh Mahal (iv) Farrukhnagar 

Choose the correct code : 

 A B C D 

(1) (iii) (ii) (i) (iv) 

(2) (iv) (ii) (i) (iii) 

(3) (i) (ii) (iii) (iv) 

(4) (iv) (iii) (ii) (i) 

90. izfl) xty xkf;dk tksgjkckbZ lacaf/kr Fkh % 

 

(1) vackyk ls  

(2) lksuhir ls 

(3) jsokM+h ls  

(4) ;equkuxj ls 

  
90. The famous Gazal Singer Zohrabai was 

related to : 

(1) Ambala  

(2) Sonipat 

(3) Rewari  

(4) Yamunanagar 

 



 [ 25 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Level-1/4101  P. T. O. 

HkkxHkkxHkkxHkkx – IV / PART – IV 

xf.krxf.krxf.krxf.kr / MATHEMATICS 

funsZ'k % funsZ'k % funsZ'k % funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.  

91. fdlh vk;r ds ,d fod.kZ rFkk {ks=Qy dh 
eki Øe'k% 25 lseh rFkk 168 lseh

2
 gks] rks 

vk;r dh yEckbZ fdruh gksxh \ 

(1) 31 lseh (2) 24 lseh 

(3) 17 lseh (4) 9 lseh 

  91. Find the length of a rectangle whose 

diagonal and area is 25 cm and 168 

2cm  respectively : 

(1) 31 cm (2) 24 cm 

(3) 17 cm (4) 9 cm 

92. ;fn oxZ dh çR;sd Hkqtk dh yEckbZ esa 15% 
dh o`f) dj nh tk,] rks blds {ks=Qy esa 
fdrus çfr'kr o`f) gksxh \ 

(1) 15% 

(2) 22.5% 

(3) 56.25% 

(4) 32.25% 

  92. If the length of each side of a square is 

increased by 15%, then the increase 

percent in its area is : 

(1) 15% 

(2) 22.5% 

(3) 56.25% 

(4) 32.25% 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Level-1/4101  

93. ;fn 
85

yx
=  gks] rks 

8

5

+

+

y

x  dk eku D;k 

gksxk \ 

(1) 
8

7
  

(2) 
5

3  

(3) 
8

5
  

(4) 
5

8  

  93. If 
85

yx
= , then the value of  

8

5

+

+

y

x  is 

equal to : 

(1) 
8

7
  

(2) 
5

3  

(3) 
8

5
  

(4) 
5

8
 

94. 
2

1  dk eku gS % 

(1) 2   

(2) 2 

(3) 
2

2
  

(4) 
2

2  

  94. The value of 
2

1
is : 

(1) 2   

(2) 2 

(3) 
2

2
  

(4) 
2

2
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Level-1/4101  P. T. O. 

95. 'kkafr us jksek vkSj Vhuk ds chp 1 : 3 ds 
vuqikr esa 40 Mkd fVdV ck¡VsA Vhuk dks 
fdrus Mkd fVdV feys \ 

(1) 10 

(2) 30 

(3) 20 

(4) 25 

  95. Shanti divided 40 stamps between 

Roma and Teena in the ratio of 1 : 3. 

How many stamps did Teena get ? 

(1) 10 

(2) 30 

(3) 20 

(4) 25 

96. 0064.001.0 +  dk eku gksxk % 

(1) 0.03  

(2) 0.3 

(3) 0.3 2   

(4) 3 
 

  
96. 0064.001.0 +  is equal to : 

(1) 0.03  

(2) 0.3 

(3) 0.3 2   

(4) 3 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Level-1/4101  

97. 1,60,000 #0 dk 2 o"kZ esa 10% okf"kZd    
nj ls Nekgh ns; pØo`f) C;kt fdruk 
gksxk \  
 

(1) 34,846 #0  

(2) 34,481 #0 

(3) 19,448 #0  

(4) 37,946 #0  

  97. Find CI paid when a sum of               

Rs. 1,60,000 is invested for 2 years at 

10% per annum compounded half 

yearly : 

(1) Rs. 34,846  

(2) Rs. 34,481  

(3) Rs. 19,448  

(4) Rs. 37,946  

98. 
238368

128352  dk ljyre :i D;k gS \ 

(1) 3/4  

(2) 5/13 

(3) 7/13  

(4) 9/13 

  98. The simplest form of 
238368

128352  is :  

(1) 3/4 

(2) 5/13 

(3) 7/13 

(4) 9/13 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Level-1/4101  P. T. O. 

99. ;fn nks ?kuksa ds vk;ruksa dk vuqikr 27 : 64 

gS] rks muds lEiw.kZ i`"Bh; {ks=Qyksa dk 
vuqikr gksxk % 

(1) 27 : 64  

(2) 3 : 4 

(3) 9 : 16  

(4) 3 : 8 

  99. The ratio of the volume of two cubes is 

27 : 64, then find the ratio of their total 

surface area : 

(1) 27 : 64  

(2) 3 : 4 

(3) 9 : 16  

(4) 3 : 8 

100. ,
12

5
13

3

1
2

4

1
3

2

1
2 =+++ x  rks 'x' dk 

eku gksxk % 

(1) 
3

1
5   

(2) 
5

1
3  

(3) 
5

1
2    

(4) 
7

1
5   

  
100. ,

12

5
13

3

1
2

4

1
3

2

1
2 =+++ x find the value 

of  'x' : 

(1) 
3

1
5   

(2) 
5

1
3  

(3) 
5

1
2    

(4) 
7

1
5  
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Level-1/4101  

101. 11 ds xq.kt Kkr dhft, ;fn rhu Øekxr 
la[;kvksa ¼11 xq.kt la[;k½ dk ;ksx 363 gS % 

(1) 110, 121, 132 

(2) 11, 22, 33 

(3) 121, 132, 143 

(4) 132, 143, 154 

  101. The sum of three consecutive multiples 

of 11 is 363, find these multiples : 

(1) 110, 121, 132 

(2) 11, 22, 33 

(3) 121, 132, 143 

(4) 132, 143, 154 

102. ,d ekfpl ds fMCcs dk uki 4 lseh × 2.5 lseh 
× 1.5 lseh gks] ,sls 12 fMCcs ds ,d iSdsV 
dk vk;ru D;k gksxk \ 

(1) 180 lseh
3
  

(2) 140 lseh
3
 

(3) 120 lseh
3
  

(4) 100 lseh
3
 

  
102. A matchbox measures 4 cm × 2.5 cm × 

1.5 cm, what will be the volume of a 

packet containing 12 such boxes ? 

(1) 180 cm
3
  

(2) 140 cm
3
 

(3) 120 cm
3
  

(4) 100 cm
3
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Level-1/4101  P. T. O. 

103. nks laiwjd dks.kksa dk vuqikr 2 : 3 gS] rks 

dks.kksa dk eki gksxk % 

(1) 30°, 45°  

(2) 36°, 54° 

(3) 72°, 108° 

(4) 66°, 114° 

  103. The ratio of supplementary angle is  

2 : 3, then find the angle : 

(1) 30°, 45°  

(2) 36°, 54° 

(3) 72°, 108° 

(4) 66°, 114° 

104. ,d lecgqHkqt ds vkarfjd dks.kksa dk ;ksx 
1440° gS] Hkqtkvksa dh la[;k fdruh gS \ 
 

(1) 8  

(2) 10 

(3) 12 

(4) 6 

  
104. The sum of interior angle of a regular 

polygon is 1440°, then the number of 

sides is : 

(1) 8  

(2) 10 

(3) 12 

(4) 6 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Level-1/4101  

105. jke ,d iqLrd dk 1/5ok¡ Hkkx i<+rk gSA ;fn 
fQj Hkh 60 i`"B i<+us dks 'ks"k gSa] rks iqLrd 
esa dqy fdrus i`"B gSa \ 

(1) 75 

(2) 90 

(3) 105  

(4) 120 

  105. Ram reads 1/5th of a book. If 60 pages 

are still left to read, then how many 

pages are there in the book ? 

(1) 75 

(2) 90 

(3) 105  

(4) 120 

106. ;fn A dh vk; B dh vk; ls 20% de gks] 
rks B dh vk; A dh vk; ls fdrus çfr'kr 
vf/kd gS \ 

(1) 20%  

(2) 25% 

(3) 30%  

(4) 35% 

  
106. If the income of A is 20% less than 

income of B, then how much income of  

B is more than income of A ? 

(1) 20%  

(2) 25% 

(3) 30%  

(4) 35% 



 [ 33 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 
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107. ,d f=Hkqtkdkj IykWV dh Hkqtkvksa dk vuqikr 

3 : 5 : 7 gS vkSj bldk ifjeki 300 eh gS] rks 

bldk {ks=Qy gksxk % 

(1) 150 eh
2
  

(2) 900 3  eh
2
 

(3) 1500 3  eh
2
  

(4) 1500 eh
2
 

  107. The sides of a triangular plot are in the 

ratio of 3 : 5 : 7 and its perimeter is        

300 m, find its area : 

(1) 150 2m   

(2) 900 3 2m  

(3) 1500 3 2m   

(4) 1500 2m  

108. fcUnq P(x1, y1) vkSj Q( 2x , 2y ) ds chp dh 
nwjh cjkcj gS % 

(1) 2
12

2
12 )()( yyxx −+−   

(2) 2
12

2
12 )()( yyxx +−+  

(3) 2
11

2
22 )()( yxyx −+−  

(4) 2
21

2
21 )()( yyxx ++−  

  
108. The distance between P(x1, y1) and  

Q( 2x , 2y ) is : 

(1) 2
12

2
12 )()( yyxx −+−   

(2) 2
12

2
12 )()( yyxx +−+  

(3) 2
11

2
22 )()( yxyx −+−  

(4) 2
21

2
21 )()( yyxx ++−  
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 
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109. 11 çs{k.kksa dk vkSlr 60 gSA ;fn çFke 6 
çs{k.kksa dk vkSlr 59 gks rFkk vafre 6 çs{k.kksa 
dk vkSlr 62 gks] rks NBs çs{k.k dk eku gS % 
 

(1) 63 

(2) 64 

(3) 66 

(4) 68 

  109. The average of 11 observations is 60. 

If the average of first six observations 
is 59 and that of last six observations is 

62, then the value of sixth observation, is : 

(1) 63 

(2) 64 

(3) 66 

(4) 68 

110. ?
)225()225(

)225()225(
2.08.0

3.02.0

=

×

×  

(1) 15  

(2) 1.5 

(3) 
15

1
 

(4) 
25

1
 

  
110. ?

)225()225(

)225()225(
2.08.0

3.02.0

=

×

×  

(1) 15  

(2) 1.5 

(3) 
15

1
 

(4) 
25

1
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Level-1/4101  P. T. O. 

111. ,d csyukdkj tkj ds vk/kkj dh ifjf/k 132 

lseh gS vkSj mldh Å¡pkbZ 25 lseh gS] rks 
mlesa fdrus yhVj ikuh vk ldrk gS \ 

(1) 33.64 yhVj  

(2) 34.65 yhVj 

(3) 69.34 yhVj  

(4) 22.35 yhVj 

  111. The circumference of the base of a 

cylindrical vessel is 132 cm and its 

height is 25 cm, how many liters of 

water can it hold ? 

(1) 33.64 liters  

(2) 34.65 liters 

(3) 69.34 liters 

(4) 22.35 liters 

112. 8 lseh yEckbZ vkSj 6 lseh pkSM+kbZ dh ,d 
dkxt dh 'khV ij 2 lseh Hkqtk okys fdrus 
oxZ cuk;s tk ldrs gSa \ 

(1) 24 

(2) 18 

(3) 12 

(4) 8 

  112. How many squares of each side 2 cm 

can be drawn on a paper sheet of the 

length 8 cm and the breadth 6 cm ?  

(1) 24 

(2) 18 

(3) 12 

(4) 8 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Level-1/4101  

113. nks la[;k,¡ 3 : 4 ds vuqikr esa gSa rFkk budk 
y?kqÙke lekioR;Z 84 gS] buesa ls cM+h la[;k 
dkSu-lh gksxh \ 
(1) 21 (2) 24 

(3) 28 (4) 84 

  113. The ratio of two numbers are 3 : 4 and 

their L.C.M. is 84, then which number 

is greater number of the following ? 
(1) 21 (2) 24 

(3) 28 (4) 84 

114. ,d f}?kkr lehdj.k ds ewy 
3

2  vkSj 
2

1
−  

gSa] rks f}?kkr lehdj.k gksxk % 

(1) 26x  + x + 2 = 0 

(2) 26x  − x − 2 = 0 

(3) 216x  − x + 2 = 0 

(4) 216x  + x − 2 = 0 

  114. Find the quadratic equation whose roots 

are 
3

2  and 
2

1
−  : 

(1) 26x  + x + 2 = 0 

(2) 26x  − x − 2 = 0 

(3) 216x  − x + 2 = 0 

(4) 216x  + x − 2 = 0 

115. Js.kh 3, 8, 13, 18, …….. esa dkSu-lk in 78 

gS \ 

(1) 18 (2) 76 

(3) 16 (4) 74 

  
115. Which term of the series 3, 8, 13, 18, 

…….. is 78 ? 

(1) 18 (2) 76 

(3) 16 (4) 74 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 
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116. nks iw.kZ la[;kvksa dk varj 66 gS vkSj mudk 

vuqikr 5 : 2 gS] rks oks nks la[;k,¡ gSa % 

 

(1) 110 : 34  

(2) 34 : 100 

(3) 110 : 44  

(4) 100 : 34 

  
116. The difference between two whole numbers 

is 66. The ratio of the two numbers is 5 : 2, 

what are the two numbers ? 

(1) 110 : 34  

(2) 34 : 100 

(3) 110 : 44  

(4) 100 : 34 

117. 

69.069.069.041.041.041.0

69.069.069.041.041.041.0

×+×−×

××+××  

dk eku gksxk % 

(1) 0.28  

(2) 11 

(3) 1.1 

(4) 2.8 

  117. 

69.069.069.041.041.041.0

69.069.069.041.041.041.0

×+×−×

××+××  

is equal to : 

(1) 0.28 

(2) 11 

(3) 1.1 

(4) 2.8 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 
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118. 15 o"kks± esa jfo dh mez orZeku mez dh 4 xquk 
gksxh] rks jfo dh orZeku mez D;k gS \ 
 

(1) 15 o"kZ (2) 5 o"kZ 

(3) 10 o"kZ (4) 4 o"kZ 

  118. Fifteen years from now Ravi's age will 

be four times his present age. What is 

Ravi's present age ? 

(1) 15 Yrs. (2) 5 Yrs. 

(3) 10 Yrs. (4) 4 Yrs. 

119. ,d 'kadq dh Å¡pkbZ vkSj fr;Zd Å¡pkbZ Øe'k% 
21 lseh vkSj 28 lseh gSA bldk vk;ru gksxk % 

(1) 7456 lseh
3
  

(2) 7654 lseh
3
 

(3) 7546 lseh
3
  

(4) 7746 lseh
3
 

  119. The height and the slant height of a 

cone are 21 cm and 28 cm respectively, 

the volume of the cone will be : 

(1) 7456 3cm   

(2) 7654 3cm  

(3) 7546 3cm   

(4) 7746 3cm  

120. ,d LdwVj 54 fdeh0 çfr ?k.Vk dh pky ls 
1 feuV esa fdruh nwjh r; djsxk \ 
 
(1) 900 eh (2) 1000 eh 

(3) 115 eh (4) 90 eh 

  120. How much distance covered by a 

scooter in 1 minute at the speed of  

54 km/hr ? 

(1) 900 m (2) 1000 m 

(3) 115 m (4) 90 m 
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HkkxHkkxHkkxHkkx – V / PART – V 

i;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;u    / ENVIRONMENTAL STUDIES 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

121. jkWdsV fdlds laj{k.k ds fl)kUr ij dk;Z 
djrk gS \ 
(1) cy (2) laosx 
(3) osx (4) nzO;eku 

  121. Rocket works on the principle of 

conservation of : 

(1) Force (2) Momentum 

(3) Velocity (4) Mass 

122. fdl@fdu m|ksx@m|ksxksa dks ^^lujkbt 
m|ksx** ds :i esa tkurs gSa \ 
(A) ykSg vkSj bLikr m|ksx 
(B) lwpuk izkS|ksfxdh 
(C) lhesUV m|ksx 
(D) lwrh oL= m|ksx 

(1) (A), (B) vkSj (C) 
(2) (C) vkSj (D) 
(3) dsoy (B) 

(4) dsoy (D) 

  122. Which industry/industries known as 

"Sunrise Industries" ? 

(A) Iron and Steel Industries 

(B) Information Technology 

(C) Cement Industries 

(D) Cotton Textile Industries 

(1) (A), (B) and (C) 
(2) (C) and (D) 
(3) Only (B) 

(4) Only (D) 

123. vQkbZ] djSr] nqcbZ;k iztkfr;k¡ gSa % 
(1) tgjhyk lk¡i dh 
(2) eNyh dh 
(3) tgjfoghu lk¡i dh 
(4) esa<d dh 

  123. Afai, Krait, Duboiya are species of : 

(1) Poisonous Snake 

(2) Fish 

(3) Nonpoisonous Snake 

(4) Frog 

124. lw{e thoksa }kjk e`r ikniksa ij fØ;k djus ls 
curk gS % 

(1) e'k:e 

(2) jsr 

(3) g~;wel 

(4) dk"B 

  124. Micro-organism act upon the dead plant 

to produce : 

(1) Mushroom 

(2) Sand 

(3) Humus 

(4) Wood 



[ A ] [ 40 ] 

Level-1/4101   

125. thok.kqvksa dks ekjus ds fy, ty esa dkSu&lh 

xSl izokfgr djrs gSa \ 

(1) czksehu (2) Dyksjhu 

(3) vk;ksMhu (4) ukbVªkstu 

  125. Which gas is passed in the water to kill 

bacterias ? 

(1) Bromine (2) Chlorine 

(3) Iodine (4) Nitrogen 

126. ukfHkdh; fj,DVj eas bZa/ku ds fy, fdl rRo 
dk mi;ksx djrs gSa \ 

(1) ;wjsfu;e 

(2) dSMfe;e 

(3) Y;wVsfV;e 

(4) lksfM;e 

  126. Which element is used in nuclear 

reactor for fuel ? 

(1) Uranium 

(2) Cadmium 

(3) Lutetium 

(4) Sodium 

127. lghlghlghlgh  fodYi dk p;u dhft, % 

(1) fo'o dh lHkh >hyksa o ufn;ksa esa ty dh 

dqy ek=k fu;r jgrh gSA 

(2) Hkwfexr ty dh dqy ek=k fu;r jgrh 

gSA 

(3) fo'o ds leqnzksa vkSj egklkxjksa esa ty 

dh dqy ek=k fu;r gSA 

(4) fo'o esa ty dh dqy ek=k fu;r gSA 

  127. Choose the correct option : 

(1) In the lakes and rivers of the world 

total amount of water remain constant. 

(2) Underground water remain 

constant. 

(3) In the seas and oceans of the world 

total amount of water remain constant. 

(4) The total amount of world water 

remain constant. 

128. fdl /kkrq dk mi;ksx lksyj lsy cukus esa 

djrs gSa \ 

(1) lksuk 

(2) yksgk 

(3) ,yqfefu;e 

(4) flfydkWu 

  128. Which metal is used for making solar 

cell ? 

(1) Gold 

(2) Iron 

(3) Aluminium 

(4) Silicon 
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129. ubZ iztkfr;k¡ cu tkrh gSa ;fn % 

(A) tuu dksf'kdk ds DNA esa egÙoiw.kZ 

ifjorZu gksrk gSA 

(B) ;qXed esa xq.klw=ksa dh la[;k esa ifjorZu 

gksA 

(C) vkuqokaf'kd inkFkksZa esa ifjorZu ugha gksA

  

(1) dsoy (A) 

(2) (A) vkSj (B) 

(3) (A) vkSj (C) 

(4) (A), (B) vkSj (C) 

  129. New species may be formed if : 

(A) DNA undergoes significant change 

in germ cell. 

(B) Chromosomes number change in 

the gamete. 

(C) There is no change in genetic 

materials. 

(1) Only (A) 

(2) (A) and (B) 

(3) (A) and (C) 

(4) (A), (B) and (C) 

130. fdl gkWeksZu ds fuekZ.k ds fy, vk;ksMhu 
vko';d gS \ 

(1) vkWfDlu 

(2) bUlqfyu 

(3) Fkk;jkWfDlu 

(4) ,Mªsuyhu 

  130. Iodine is necessary for the synthesis of 

which hormone ? 

(1) Auxin 

(2) Insulin 

(3) Thyroxin 

(4) Adrenalin 

131. ck;ksxSl dk eq[; ?kVd gS % 

(1) izksisu 

(2) C;wVsu 

(3) esFksu 

(4) ,Fksu 

  131. Main component of Biogas is : 

(1) Propane 

(2) Butane 

(3) Methane 

(4) Ethane 
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132. fuEu esa ls fdls dksf'kdh; izØe esa ÅtkZ eqnzk 
ds :i esa tkuk tkrk gS \ 

(1) ekbVksdkWfUMª;k 

(2) Mh0,0ih0 

(3) dqfidk,¡ 

(4) ,0Vh0ih0 

  132. Which of the following is known as 

energy currency in the cellular process ? 

(1) Mitochondria 

(2) D.A.P. 

(3) Alveoli 

(4) A.T.P. 

133. dkSu&lk in dkcZu pØ esa lfEefyr ughaughaughaugha     
gS \ 
(1) izdk'k la'ys"k.k 
(2) ok"iksRltZu 
(3) 'olu 

(4) thok'e bZa/ku dk tyuk 

  133. Which step is not involved in the 

carbon cycle ? 

(1) Photosynthesis 

(2) Transpiration 

(3) Respiration 

(4) Burning of fossil fuel 

134. fuEu esa ls dkSu&lh chekjh thok.kq tfur ughaughaughaugha 
gS \ 

(1) gStk 

(2) risfnd ¼{k;½ jksx 

(3) ,UFkzsDl 

(4) bU¶yq,atk 

  134. Which one of the following is not a 

bacterial disease ? 

(1) Cholera 

(2) Tuberculosis 

(3) Anthrax 

(4) Influenza 

135. fuEu esa ls dkSu&lk oxZ tSo fuEuhdj.k dk   
gS \ 
(A) ?kkl] iq"i vkSj peM+k 
(B) ?kkl] dk"B vkSj dk¡p 
(C) Qyksa ds fNyds] dsd vkSj uhacw jl 
(D) dsd] dk"B vkSj IykfLVd 
(1) A, B vkSj C 

(2) A, B, C vkSj D 

(3) A vkSj C 

(4) B vkSj D 

  135. Which of the following group contain 

only biodegradable ? 

(A) Grass, Flowers and Leather 

(B) Grass, Wood and Glass 

(C) Fruits-peels, Cake and Lime juice 

(D) Cake, Wood and Plastic 

(1) A, B and C 

(2) A, B, C and D 

(3) A and C 

(4) B and D 
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136. ^lqugjk js'kk* ls vfHkizk; gS % 

(1) dikl 

(2) iVlu 

(3) uk;ykWu 

(4) js'ke 

  136. 'Golden fibre' refers to : 

(1) Cotton 

(2) Jute 

(3) Nylon 

(4) Silk 

137. fuEufyf[kr dks lqesfyr dhft, % 

dkWye&dkWye&dkWye&dkWye&I    dkWye&dkWye&dkWye&dkWye&II 

(A) CFC (i) gfjr x`g izHkko 

(B) CO2 (ii) lokZf/kd miyC/k xSl 

(C) N2 (iii) tgjhyh xSl ¼fo"kSyh 

xSl½ 

(D) CO (iv) vkst+ksu {k; 

dwV %dwV %dwV %dwV %    

  A  B  C  D 

(1) (i) (ii) (iii) (iv) 

(2) (iii) (i) (iv) (ii) 

(3) (iii) (iv) (ii) (i) 

(4) (iv) (i) (ii) (iii) 

  137. Match the following : 

Column-I Column-II 

(A) CFC (i) Green House Effect 

(B) CO2 (ii) Most available gas 

(C) N2 (iii) Poisonous gas 

(Toxic gas) 

(D) CO (iv) Ozone depletion 

Code : 

  A  B  C  D 

(1) (i) (ii) (iii) (iv) 

(2) (iii) (i) (iv) (ii) 

(3) (iii) (iv) (ii) (i) 

(4) (iv) (i) (ii) (iii) 

138. o;Ld O;fDr esa RBC dk fuekZ.k gksrk gS % 

(1) ;Ñr esa 

(2) vfLFkeTtk esa 

(3) o`Dd esa 

(4) vXU;k'k; esa 

  138. In adult Human R.B.C. is formed in : 

(1) Liver 

(2) Bone marrow 

(3) Kidney 

(4) Pancreas 
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139. fuEufyf[kr dks lqesfyr dhft, % 

dkWye&dkWye&dkWye&dkWye&I ¼jkT;½¼jkT;½¼jkT;½¼jkT;½    dkWye&dkWye&dkWye&dkWye&II ¼ty laj{k.k ¼ty laj{k.k ¼ty laj{k.k ¼ty laj{k.k 

fof/k½fof/k½fof/k½fof/k½ 

(A) jktLFkku (i) ,fjl 

(B) egkjk"Vª (ii) ikbu 

(C) dsjy (iii) ca/kkjl 

(D) rfeyukMq (iv) [kM+hu 

(E) fcgkj (v) lqjaxe 

dwVdwVdwVdwV    %%%%    

  A  B  C  D  E 

(1) (iv) (ii) (v) (iii) (i) 

(2) (i) (iv) (ii) (iii) (iv) 

(3) (iv) (iii) (v) (i) (ii) 

(4) (i) (iv) (v) (ii) (iii) 

  139. Match the following : 

Column-I 

(State) 

Column-II (Water 

harvesting method) 

(A) Rajasthan (i) Eris 

(B) Maharashtra (ii) Pyne 

(C) Kerala (iii) Bandharas 

(D) Tamil Nadu (iv) Khadin 

(E) Bihar (v) Surangams 

Code : 

  A  B  C  D  E 

(1) (iv) (ii) (v) (iii) (i) 

(2) (i) (iv) (ii) (iii) (iv) 

(3) (iv) (iii) (v) (i) (ii) 

(4) (i) (iv) (v) (ii) (iii) 

140. LFkkukarfjr Ñf"k dks czkthy esa dgrs gSa % 

(1) feYik 

(2) >wfeax 

(3) jksdk 

(4) ynkax 

  140. Shifting agriculture in Brazil is known as : 

(1) Milpa 

(2) Jhuming 

(3) Roca 

(4) Ladang 

141. /kkou lksMk dk jklk;fud uke gS % 

(1) lksfM;e DyksjkbM 

(2) lksfM;e gkbMªkstu dkcksZusV 

(3) lksfM;e dkcksZusV 

(4) lksfM;e gkbMªkWDlkbM 

  141. Chemical name of washing soda is : 

(1) Sodium chloride 

(2) Sodium hydrogen carbonate 

(3) Sodium carbonate 

(4) Sodium hydroxide 
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142. DyksjksfQy esa dkSu&lh /kkrq ik;h tkrh gS \ 

(1) eSXuhf'k;e 

(2) dksckYV 

(3) yksgk 

(4) fufdy 

  142. Which metal is found in chlorophyll ? 

(1) Magnesium 

(2) Cobalt 

(3) Iron 

(4) Nickel 

143. dejs ds rki ij dkSu&lh v/kkrq nzo voLFkk 

esa ik;h tkrh gS \ 

(1) edZjh  (2) vk;ksMhu 

(3) czksehu (4) Dyksjhu 

  143. Which non-metal exist in liquid state at 

room temperature ? 

(1) Mercury (2) Iodine 

(3) Bromine (4) Chlorine 

144. uohdj.kh; ÅtkZ òksr gS % 
(1) isVªksy 
(2) dks;yk 
(3) ou 
(4) izkÑfrd xSl 

  144. Renewable Energy Source is : 

(1) Petrol 

(2) Coal 

(3) Forest 

(4) Natural gas 

145. fdl tho ds }kjk oehZdEiksLV cuk;k tkrk   
gS \ 

(1) piVs Ñfe 

(2) gqd Ñfe 

(3) fiu Ñfe 

(4) dsapqvk 

  145. Which organism produces 

vermicompost ? 

(1) Flatworm 

(2) Hookworm 

(3) Pinworm 

(4) Earthworm 

146. vejcsy mnkgj.k gS % 

(1) Lo;aiks"kh 

(2) ijthoh 

(3) e`rthoh 

(4) ijiks"kh 

  146. Amarbel (Cuscuta) is an example of : 

(1) Autotroph 

(2) Parasite 

(3) Saprotroph 

(4) Host 
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147. iw.kZ fo'oO;kih m".krk ds fy, fofo/k xzhu 

gkml xSlksa dk lkisf{kd ;ksxnku c<+rs gq, Øe 

esa gS % 

(1) CO2 > CFC > CH4 > NO2 

(2) CO2 > CH4 > CFC > NO2 

(3) CH4 > CFC > CO2 > NO2 

(4) CFC > CH4 > CO2 > NO2 

  147. Relative contribution of various green 

house gases to total global warming in 

ascending order is : 

(1) CO2 > CFC > CH4 > NO2 

(2) CO2 > CH4 > CFC > NO2 

(3) CH4 > CFC > CO2 > NO2 

(4) CFC > CH4 > CO2 > NO2 

148. fo'o ty fnol euk;k tkrk gS % 

(1) 22 ekpZ 

(2) 22 vizSy 

(3) 23 uoEcj 

(4) 23 ekpZ 

  148. World Water Day is celebrated on : 

(1) 22 March 

(2) 22 April 

(3) 23 November 

(4) 23 March 

149. ysal {kerk dh SI bdkbZ gS % 

(1) gV~Zt 

(2) Y;wesu 

(3) vkse 

(4) MkbvkWIVj 

  149. The SI unit of power of lens is : 

(1) Hertz 

(2) Lumen 

(3) Ohm 

(4) Dioptre 

150. dkSu&lk dksf'kdkax Lo;a dk DNA j[krk gS \ 
 

(1) ykblkslkse 

(2) ekbVksdkWfUMª;k 

(3) yod 

(4) nksuksa (2) o (3) 

  150. Which cell organelles have its own 

DNA ? 

(1) Lysosomes 

(2) Mitochondria 

(3) Plastids 

(4) Both (2) and (3) 
 



6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy 
IokbaV iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 
darkening complete circle using Black ball point pen as 
shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 
 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk 
iz;ksx fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k dks gh iwjh rjg dkys ckWy 
IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, 

only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d 
esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer 

Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk 
dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with 

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the 

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic 

device or any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on 

demand his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn 
fdlh vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g 
vuqfpr lk/ku dk ekeyk ekuk tk,xkA OMR mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu’kku 
yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh 
ek=k u rks cgqr vf/kd gks o u gh cgqr deA (The candidates should not leave the Examination Hall without handing over 

their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the 

Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. 

All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should 

be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn’kk&funsZ’k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA 
vuqfpr lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in 

the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
iz'u&iqfLrdk dks ys tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator 

in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
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